Stat 451

o B Wypergeanrbine. daAribudras, 0o
. -
qﬁg&ww
Geondore dishribudon
g@m&nxﬁ% - QX0 0%k --- =T

T-00 = Q¥ Y
= ¢(ox ar « N"Jx—---\ =1

(- =2 = 7@;

@

Quw\ 0. <uaves & Bervaull; -bno.\s

(talepndeat 1, 2 pessible. onkiasees o m.mﬂ
Swae podobility & suses v )

Y = hrod on vhdi the & sueuss oteurs

\ -
X" (1,3... Olute Wt e pabe
L pm= ¢ty | SR
- Z‘L P '{)-rﬁ-kprr..
_J?, Sy XY



P al k&
= Zmzﬂﬂlf Lt Y= A
= A=+
= o2
- Jlpdg'y = Zye v Ze%
g £
o oz fcsv @
@ Yy, = ZQ "? =
(j%:j‘ﬂ 7:\191 ?’}A I‘“‘?}**"
wa},::/(
@-. ?#Wrﬁ» = | e ’_:L,?:._};
T A e -
tkw Ls &.QG?«&,
4 g to < k. yeat owd potd
Al 2T by e
.
Prsuec: ¢ = 7

!\\O.Ctujoi\ﬂ &9M°m0.l (PQ‘IEOB Q[Sh‘-‘oh‘tio\'\

GQM ﬁf’-h&; 05 (aﬂcwbnc J,%—lf.%,.,.h“on X
bak X2 briol on ade tre F subtes o0tws




®

X = r’ (&-l)r-kl,

P(u) = P( et outess L\oﬂ:ms o bredd # /g)

:Q(r-{ suteosses m e 1Z A breeds ﬂm.‘s“

frcd x )
- (M" ) -t (n-\- (£AY)

T e f ' . f |
EP(I\'-) = :.::\Pf?,xf( , X=v, e, ... )

©

T\
:;w fr:' R dstebybion |¥ -'Lu'
ottuind 1 oteuss, Gie o\ &&yulnw\:.
Sebvg WL
AL Coual
So fo £ix] < (¥ . - x euq,]
= i__
£



®

é@ﬁ(ﬂ: Cody oHod Was O 2. suttess @l

T hles 2 sewssl  dwaale Y
Beeat. (Nust ossume e poudenes)

Red e peb. Ak A e oypecti L dolue,
X N l\“z)(r-'-'-g ,p:—.Q)

K-3

,P(M\ = (M:) (‘?)3('8) | X= 3}4) o

y——
—

{5

\

_ e _ 3
rTp 1

fond Y p«b\aa!é.lﬁifr Lot Y 3% syeess
olttuvs -[—;r.q_Q 1O

P10 = (DS = ocos

rd o, Bt e 3T sumss oltur
on o bibe brid e,

V(X £ 3‘) = 9(37:( V(&) X V(:m)



ket y=({+ )

ﬂ"‘] = N ﬂvt(“’ %’\) = ,an(“' %)
R\w\ ﬁvui -—ﬁm Qﬂ(“%) = |- A+n '1>
PUE - A v:ﬁ,‘, (.-\,)
Ny Luspad
X
S he, (Gr)

Lim fay =y
W
"

O (L

AR

Qan (1 5 =
N=77

be Couse fuy 35 tonBivcous

K
e



%
d
k

p(m = (A
AN,
1’-1

L
QM N —% a"\ 1:
t 06
')Zb - el :'
nP- ) %0 P..- ——
V\{J M
ﬂ

{J(f{\’ )
(,‘)(%\i )
Limt (4) Qam ﬂ"({i%w
e (!
_._,)"

A.-b
00
V.
o> N (-
ﬂ*
((’ ﬂ)&

= "N ﬂ
nn-
»-- (n-ntm(
pl)

e
C/(f\—\/_\_/
v\
o d (1’
} e) A R) - ( iy
4' { %

©

—

P() )\ e -’.l.'rh(-b‘a,‘
4 - e |

X »
= 04,2




A= 24 3!
ol Sevtes
for &
=4
,1’4’5LK] > A hecause Ap=X WS Well cansfant
< = apt = A(1- %)
?OW P«f.?:_ﬂ_ﬂ_—éﬂ of ?oﬁs-w& Dy [‘l".‘mt @

- o\rﬁ-{(\rt O Combtayous frocess der (L M
pmamtt vt Bue of space

- X counts e ¥F o Stewrfevess K @ (bfh\\--l-”e

— Otenltdon M ion-averiappy  Mievaods
(e w\epzdgﬂf

= The prvdonldy £ G Ottucmats s ¢ Ghen

Wi gmpr-&uoﬂ 4o e w#\ o o kel
- j;ﬂfl\(&‘%&\l Mkiauo, L ¥ b, £ were thaa

{ Otufrents & GPP“"- O



/w‘ A ‘Q‘? S’C&hm ﬂ*‘k o Mm?
& a‘% aal\s P{ ch-.l_

Oa ¢ {\&(‘\\Q&M&.",M% o
ke @t o faee alls,

XN Pdls;w()\ = 28,%>

p(m = 2A53%e 2.5%

At

{28;(‘* 254 16" A%,

- --"'"a— ______ 2%

= S"i'q 5
W #3 Qe Otk o
(7%(‘7 -&q‘{l

(et & 4

pias £5, F 15,6



